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CHAPTER 1
INTRODUCTION AND BASIC PRINCIPLES

1.1 (Tutorial). Determine if the following properties of the system are intensive or extensive
properties:

Property Intensive Extensive
Volume

Density

Conductivity

Color

Boiling point (for a liquid)
Number of moles

1.2. State and discuss whether each of the following systems could be analyzed as a closed
or open system.

- A lecture room

- Human body

- A car engine

- The sun

- The universe

1.3. State if the following processes could be considered as quasi-static processes
- A compressed gas escaping from a narrow hole in a reservoir

- Combustion in internal combustion engines

- The cooling process of a cup of coffee at 70°C in an environment with a constant
temperature of 69.9999°C.

1.4. The state postulate is completely satisfied by:
- Two extensive properties

- One intensive property

- Two intensive, independent properties

- One extensive and one intensive property

1.5. Which thermodynamic property is introduced using the zeroth law of thermodynamics?

1.6. The temperature of a cup of coffee is 23°C. Determine the temperature in K, °F and R?
How does it taste? Investigate the reason why?

1.7 (Tutorial). The temperature of a cup of water drops by 40°F when placed in a refrigerator.
How much did the temperature of the water change in °C and in K.

Page 1 of 5



1.8 (Tutorial). Find the pressure at the bottom the tank including mercury shown in Fig.1.8.
What will be the height if water is used instead of mercury to get the same pressure at the
bottom of the tank? Comment on the solution.

Figure 1.8

1.9. A manometer is used to determine the pressure in a pressurized vessel containing water.
If the reading shows an elevation of 50 cm. Determine the gage pressure in the vessel? If the
surrounding atmospheric pressure is 101 kPa, determine the absolute pressure in the vessel.

1.10 (Tutorial). The tank shown in Fig. 1.10 contains two different immiscible liquids.
Determine the elevation reading obtained using manometer (1). Determine the elevation
reading obtained using manometer (2). Determine the total pressure at the bottom of the
tank.

@ @
AV
Liquid (1)
SG=1
3m
A
Liquid (2)
Lt SG=34
v
Figure 1.10
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1.11 (Tutorial). Determine the gage pressure at A as read by the U-tube manometer. Density
of water is p =1000 kg/m? and the specific gravity of mercury is SGmercury 13.6.

Figure 1.11

1.12. A first-time 1.82-m tall scuba diver submerged himself into the deep sea in a vertical
position and immediately he can feel the difference in pressure level acting on his body and
also the difficulty in manipulating himself in the water. Compute the difference between the
pressure acting at the head and at the toes of the man, in kPa.

Figure 1.12
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1.13. The following simple experimental setup is often used in the laboratory to determine the
density of a given unknown fluid. It consists of a tank filled with water (pyater= 1000 kg/m3).
divided into two column compartments (see the Figure below). The tested fluid is poured into
one side, immediately resulting in a rise of the water level to a certain height on the other side
due to the density difference between the two liquids. Given the final fluid heights shown on
the figure, compute the density of the tested fluid. Assume the liquid does not mix with water
and Pam= 101 kPa.

85cm X

115¢cm

60 cm

Figure 1.13

1.14. The water in a tank is pressurized by air, and the gage pressure of the air in the tank
measured by a meter shown in the figure is found to be 78 kPa. Determine the differential

height hs of the mercury column if h; = 0.4 m and h, = 0.70 m. (note: pyaer= 1000 kg/m3, SGo;
= 0.72, SGmercury 13.6 and Pam = 101 kPa).

78 kPa

4
Ailr

Oil

h

h

AN

water Mercury

Figure 1.14
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1.15. A multi-fluid container opened to the atmosphere contains 3 different liquids, i.e., oil oo
= 900 kg/m?, salted water pyaer = 1035 kg/m>.and glycerin pgyceri = 1260 kg/m®. Determine
the gage pressure at point C if h4 =80 cm, ho =28 cm and h; = 16 cm.

“3 Point C
I N
il
h
90 cm
th
hs $
A4 A4
Q 15cm

Figure 1.15

1.16 (Tutorial). A large gas chamber is separated into compartments 1 and 2, as shown,
which are kept at different pressures. Pressure gauge A reads 280 kPa (gauge pressure of
compartment 1) and the mercury manometer installed between the chambers indicates a
level difference of 880 mm. If the local barometer reads 101 kPa, i) determine the absolute
pressures existing in each compartment, and ii) the reading of gauge C in kPa (gauge

pressure).

®— Chamber 1 Chamber 2 _©

h =880 mm Hg

Figure 1.16
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PROPERTIES OF PURE SUBSTANCE

2.1 Conceptual guestions

- Sketch the variation in the saturation pressure of a pure substance as a function of the
saturation temperature

- What is difference between saturated vapor and superheated vapor?
- Explain the difference between the critical point and the triple point?

- Consider a pure water in the saturated liquid-vapor mixture phase, which of the
following combinations of properties enough to fulfill the state postulate:

i) Temperature and pressure

il) Temperature and quality

iii) Pressure and specific volume

iv) Temperature and specific volume
V) Specific volume and quality

Consider 1 kg of compressed liquid water at a pressure lower than 4 MPa (< 5 MPa)
and a temperature of 100°C, its thermodynamic properties are obtained using:

i) Superheated vapor table considering the same temperature
i) Saturated liquid-vapor tables considering the same pressure
iii) Saturated liquid-vapor tables considering the same temperature

- Is it possible to have water vapor at 20°C?

- A renowned chef participates a cooking contest where he needs to cook ratatouille in
15 minutes. Should he use a pan that is a) uncovered, b) covered with a light lid or c)
covered with a heavy lid to make sure he can finish his desk within this short period?
Why?

-Does the amount of heat absorbed as 2 kg of saturated liquid water boils at 100°C and
normal pressure have to be equal to the amount of heat released as 2 kg of saturated
vapor condenses at 100°C and normal pressure?

- Does the latent heat of vaporization changes with pressure? Does it take more energy
to vaporize 1 kg of saturated liquid water at 100°C than it needs at 150°C?

- What is vapor quality?

- The is a point in p-v-T space where solid, liquid and gas phases can
coexist.

- Given two data point (X1, y1) and (X2, y2), write down the equation of line y = f(x). Using
this equation, perform a linear interpolation to determine u [kJ/kg] at x = 270 K if the two
points are given as (250, 2723.5) and (300, 2802.9).
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2.2 (Tutorial) Compute the following properties table for:

Water
T[°C] P [kPa] X u [kJ/kg] Phase type
300 1332.0
150 1595.63
250 0.6
600 3477.0
60 200 --
370 1200 --
Refrigerant-134a
T[°C] P [MPa] v [m®/kg] h [kJ/kg] Phase type
-20 0.30
40 147.0
90 0.0046
30 0.24
0.80 292.0

2.3 (Tutorial) A 12-L sealed rigid tank contains 8 kg of refrigerant R-134a initially at 320
kPa. The tank is heated until the pressure reaches 600 kPa. Determine a) temperature
and b) total enthalpy at both initial and final states.

2.4 (Tutorial) A stainless steel, cooking pan without lid, with an inner diameter of 22 cm
is used to boil water on an electric heater. During boiling, the water drops by 8 cm in 40
mins. What is the rate of heat transfer to the cooking pan? What would be the boiling
temperature and the water level after 40 mins while keeping the electric power input if a
heavy lid is used initially to double the pressure inside the cooking pan?

2.5 A rigid vessel, volume 2.0 m®, contains 16 kg of saturated liquid-vapor water mixture
at 85°C. The vessel is heated until all water liquid is completely vaporized. Show the
process in a T-v diagram and determine the final state temperature and pressure.

2.6 (Tutorial) A rigid tank with a volume of 83 m* contains 97.7 kg of water at 100°C.
Now the tank is slowly heated until the temperature inside reaches 120°C. Determine
the pressure inside the tank at both the beginning and the end of the heating process.
What would be the final pressure if the tank’s temperature increased to 125°C?

2.7 Arigid tank with a volume contains superheated steam at 1200 kPa and 250°C. The
tank is now cooled until the temperature decreases to 120 °C. What is the pressure,
quality and the enthalpy at the final state after the cooling?

2.8 (Tutorial) A 140-L rigid tank initially filled with 1-kg of superheated vapor at 2 MPa

is cooled until the temperature drops to 50 °C. What are the initial temperature and final
mixture pressure and quality?
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2.9 A 0.5-m® rigid tank initially contained a saturated liquid-vapor mixture of water at 140
°C is now heated until the mixture reaches the critical state. Determine the mass and
the volume of liquid before the heating process.

2.10 Heat is supplied to a piston-cylinder device that contains initially 1.5 kg of saturated
liquid water at 190°C until the volume quadruples and the liquid is completely vaporized.
Determine the tank’s total volume, temperature and pressure at the final state, as well
as the change in total internal energy.

2.11 (Tutorial) A piston-cylinder device contains a 0.90-kg saturated mixture of R-134a
at -10°C. The piston weights 10 kg with a diameter of 22 cm. It is free to move without
any frictional losses. Heat is then supplied slowly using an electric heater to this device
until the temperature reaches 20°C. Determine the pressure, the volume change of the
cylinder and the enthalpy change after the heating process. Assume the local
atmospheric pressure of 97.5 kPa.

2.12 A piston-cylinder device contains 0.6 kg of steam at 350°C and 1.0 MPa. The
steam is cooled at constant pressure until half of the mass condenses. Determine the
final temperature and volume.

2.13 (Tutorial) A piston-cylinder device initially contains a saturated liquid-vapor mixture
of water at 800 kPa, with the liquid and vapor volumes equal to 0.004 m® and 0.95 m?,
respectively. The mixture is then heated at constant pressure until the temperature rises
to 250°C. Determine the initial temperature, total mass of water, final volume and
pressure.

2.14 (Tutorial) A piston-cylinder device is initially filled with 100 kg of R-134a at 200
kPa with a volume of 12.3 m®. The system is then cooled at constant pressure until the
volume is one-half its original size. Determine the final temperature and the change of
total internal energy.
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IDEAL GAS EQUATION OF STATE

L= ——

3.1 If you are a frequent driver, you can easily realize that the pressure in your car tires
depends on the ambient (outside) air temperature. Often, you fill your tires to the
recommended tire pressure of 342 kPa absolute (or 35 psi gauge) during the
summertime when the temperature is 30°C. Assuming that your tires are made by good
brand companies and so these do not leak and their volume stays constant at V = 0.025
m3, i) what will the tire pressure be during the winter when the temperature is -30°C? ii)
How much air (in kg) would you need to add to the tire in the winter to bring the
pressure back to the recommended pressure? iii) What would the resulting pressure be
the next summer at about the same summer temperature of 30°C, and iv) how much air
(mass) would you need to bleed of (remove) to get back to the recommended pressure?
For Air: Rs = 0.287 kJ/kg-K

3.2 A piston-cylinder device initially contains 36 m? of an ideal gas at 90 kPa and 25°C.

Through a thermodynamic process, the gas is now at 101.3 kPa and 4°C. What is the
final volume of the gas?

3.3 Consider the system shown in the figure which consists of two tanks connected by a
valve. One tank contains 4 kg of carbon monoxide at 70 °C and 75 kPa. The other tank
holds 10 kg of the same gas at 28 °C and 120 kPa. The valve is opened and the gases
are allowed to mix while receiving energy by heat transfer from the surroundings. The
final equilibrium temperature is 40 °C. Applying the ideal gas model, determine the final
equilibrium pressure. Note that for carbon mononxide: Rs = 0.2968 kJ/kg-K.

Carbon Carbon
monoxide a monoxide
Valvem
4 kg, 70°C, 10 kg, 28°C,
75 kPa 120 kPa

3.4 A piston-cylinder device initially contains 0.5 kg of argon at a volume of 0.075 m3 at
600 kPa. The piston position is now adjusted by changing the weights until the volume
doubles its original size, while heat is removed to keep the process isothermal. What is
the final pressure after this process? Note that for argon: Rs = 0.2081 kJ/kg-K.

3.5 We divide a rigid vessel into two parts using a “magic” partition. Let one side of the
vessel filled with an ideal gas at 800 °C and the other evacuated completely with a
volume twice the size of the part filled with the gas. The partition is then removed to
allow the gas to fill the entire tank. The gas is heated during the process to allow the
pressure equal to the initial pressure. What is the final temperature of the gas inside this
vessel?
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3.6 Given a refrigerant-134a vapor at 0.80 MPa and 80°C, determine its specific volume
using a) the thermodynamic table for the refrigerant-134a; b) the ideal gas equation of
state; and c) compressibility chart.

3.7 Given a water vapor at 15 MPa and.350°C, determine its specific volume using a)
the steam table; b) the ideal gas equation of state; and c) compressibility chart.

3.8 Methane gas initially at 8 MPa and 300 K is heated while maintaining
constant pressure in a piston-cylinder device until its final volume has increased
by 50%. Determine the final temperature using a) the ideal gas equation of state;
and b) the compressibility chart.

3.9 A free-moving piston-cylinder device initially contains a saturated vapor of water at a
temperature of 350°C. Heat is added to the system at constant pressure until the vapor
gas volume has doubled. Determine the final temperature using a) the ideal gas
equation of state; b) the compressibility chart; as well as the steam table.

3.10 There exist different ways to determine the change of an intensive thermodynamic
properties, e.g., using i) the empirical data for h from the nitrogen table; ii) the empirical
specific heat equation as a function of temperature; iii) the ¢, value at the average
temperature; iv) ¢p value at the room temperature; and v) using specific heat ratio k at
room temperature. In this question, determine the change of internal energy Ah [kJ/kg]
of nitrogen due to the change of temperature from 500 to 1,200 K using all the
aforementioned methods.
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ENERGY TRANSFER BY WORK AND HEAT &
THE FIRST LAW OF THERMODYNAMICS

4.1 Air is compressed polytropically along a path for which n = 1.30 in a closed
system. The initial temperature and pressure are 17 °C and 100 kPa, respectively, and
the final pressure is 500 kPa. Assume Rs = 0.287 kJ/kg-K and average specific heats
cv = 0.723 kJ/kg-K and cp = 1.01 kJ/kg-K. Calculate: a) the final temperature in K; b) the
work done on the gas, in kJ/kg; and c) the change of specific internal energy.

4.2 A piston-cylinder device initially contains 1m? of saturated water liquid at 200°C, which
is now expanded isothermally until its quality is 70%. Calculate the final volume and
the total work by this expansion.

4.3 A piston-cylinder device initially contains 0.30 kg of Nitrogen at 130 kPa and 190°C,
which is now allowed to expand isothermally to a final pressure of 75 kPa. Compute the
boundary work, in kJ.

4.4 A piston-cylinder device initially contains 40 L of saturated liquid refrigerant-134a. The
piston can move freely without friction and its mass is such that it maintains a pressure of
500 kPa on the refrigerant. What is the resulting work if the refrigerant is heated to a final
temperature of 70°C?

4.5 0.25 kg of steam at 1MPa and 400°C is initially filled inside a piston-cylinder device
made with a set of stops. The location of the stops corresponds to 55% of the
initial volume. Now the steam is cooled. Determine the compression work if the final
state is a) 1IMPa and 250°C and b) 500kPa. Also find the temperature at the final state in
part b).

4.6 2 kg of saturated vapor of water at 300 kPa is heated a constant pressure until the
temperature changes to 200 °C. What is the work done by the steam during this process?

4.7 A piston-cylinder device initially has a volume of 8 m3and contains 1 kg of Helium at
150 kPa. The gas is now compressed to 4 m3 while its pressure is kept
constant. Determine the initial and final temperature and the compression work, in kJ. If
the process is carried out in isothermal situation instead, what is the work, in kJ?

4.8 A piston-cylinder device initially contains 0.20 kg of Air at 2.5 MPa and 350°C. The gas
first expanded isothermally to a pressure of 600 kPa, and then compressed
polytropically with n = 1.2 back to the initial pressure, and finally compressed at constant
pressure to the initial state. Calculate the boundary work, in kJ, for each thermodynamic
process and find the net work for the cycle.

4.9 A piston-cylinder device initially has a volume of 0.08 m?3of Nitrogen at 150 kPa and
120°C. The gas is now allowed to expand under a polytropic path to a final state of 100
kPa and 100°C. Calculate the boundary work, in kJ.

4.10 3 kg of Nitrogen N2 at 100 kPa and 300 K is initially contained in a piston-cylinder
device. The gas is now compressed slowly according to the isentropic relationship PV14 =
constant until the final temperature is raised to 380 K. Determine the required input work
for this thermodynamic process.
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4.11 A spring-loaded piston-cylinder device initially contains 1 kg of water with 10% quality
at 90°C. Heat is now added to the medium until the temperature reaches 250°C and
pressure to 800 kPa. Calculate the total work resulted from this process is kJ.

4.12 A spring-loaded piston-cylinder device initially contains 2.0 kg of water with 25%
quality at 1 MPa. Heat is now removed from the medium until it becomes a saturated liquid
at a temperature of 100°C. Calculate the total work resulted from this process is kJ.

4.13 i. A single cylinder in a car engine has a maximum volume of 5x104 m? (before the
compression stroke). After the compression process, the gas has been compressed to
one-tenth of its initial volume where the temperature is 15000JC and the pressure is 60
atm. What is the mass of gas (approximate as pure air and ideal gas) inside the cylinder?
(Note: 1 atm = 101 kPa and specific gas constant for air Rs is 0.287 kJ/kg-K)

ii. This hot, compressed gas then expands and does work on the piston until the volume is
brought back to its initial value of 5x10* m3. The boundary work produced by this
expansion is transmitted by the connecting rod from the piston to the crankshalf which
converts the up and down motion of the piston into the rotary motion of the crankshalf that
eventually turns the wheels of your car.

It is know that the pressure and the volume follow the polytropic relation throughout the
expansion process:

PV " = constant
where n is the polytropic coefficient. If n = 1.4, find the pressure after expansion and the
total amount of boundary work produced during this expansion process.

iii. What is the final temperature in the cylinder and by how much did the internal energy
decrease? Was any heat lost by the hot gases in the cylinder during the expansion?
(assume constant specific heat cv = 0.7175 kJ/ kg-K)

4.14 A saturated mixture of liquid water and vapor at 100°C with 12.3% quality is initially
contained in a rigid tank with a volume of 10 L. Heat is then supplied to this mixture until its
temperature is 150°C. Calculate the heat transfer required for this process.

4.15 A saturated water vapor at 200°C is initially contained in a frictionless piston-cylinder
device. It is condensed subsequently through an isothermal process to a saturated liquid.
Determine the specific heat transfer and the work done during this process in kJ/kg.

4.16 A rigid vessel containing a fluid is stirred with a paddle wheel. The work input to the
paddle wheel is 5100 kJ. The amount of heat removed from the tank is 1600 kJ. Consider
the tank and the fluid inside a control surface and determine the change in internal energy
of the control mass.

4.17 A saturated water vapor is initially contained in a piston-cylinder device. It is then
cooled at constant pressure to a saturated liquid at 40 kPa. Determine the heat transferred
and the work done during this process in kJ/kg.
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4.18 A rigid tank with a volume of 5 m3 contains 0.05 m? of saturated liquid water and 4.95
m? of saturated vapor at 0.1 MPa. The mixture is then heated until all the volume becomes
saturated vapor only. What is the required heat input in kJ?

4.19 A piston-cylinder device initially contains 4 kg of a certain gas, which undergoes a
polytropic process with n = 1.5. The initial pressure and volume are 300 kPa and 0.1 m3,
and the final volume is 0.2 m3. The change in internal energy during the process is equal
to - 4.6 kJ/kg (a decrease due to the expansion). Determine the net heat transfer for the
process in kJ.

4.20 A cylinder device fitted with a piston contains initially argon gas at 100kPa and 27°C
occupying a volume of 0.4 m3. The argon gas is first compressed while the temperature is
held constant until the volume reaches 0.2 m3. Then the argon is allowed to expand while
the pressure is held constant until the volume becomes 0.6 m3. Determine the total amount
of net heat transferred to the argon in kJ.

4.21 A piston-cylinder device initially contains 0.35 kg of water vapor at 3.5 MPa,
superheated by 7.4 °C. The stream now loses its heat to the surrounding and the piston
moves down, hitting a set of stops at which point the cylinder contains saturated liquid
water. The cooling continues until the cylinder contains water at 200 °C. Calculate the final
pressure and quality, as well as the boundary work and total heat transfer.

4.22 2 kg of Air in a closed system undergoes an isothermal process from 600 kPa and
200 °C to 80 kPa. Calculate the initial volume, work done as well as the heat transfer.

4.23 1kg of carbon dioxide is initially contained in a spring-loaded piston-cylinder device.
Heat is supplied from 100 kPa and 25 °C to 1000 kPa and 300°C. What is the heat transfer
to and work done by the system?

4.24 A piston-cylinder device equipped with a paddle wheel contains initially air at 500 kPa
and 27°C. The paddle wheel supplies now 50kJ/kg of work to the air. During this process
heat is transferred to maintain a constant air temperature while allowing the air volume to
triple. What is the amount of heat required?

4.25 A rigid system is built with two tanks initially separated by a partition. Tank A contains
2 kg steam at 1MPa and 300°C while tank B contains 3kg saturated liquid-vapor mixture at
150°C with a vapor quality of 50%. The partition is now removed and the two sides are
allowed to mix until thermodynamic equilibrium is returned. If the pressure at the final state
is 300 kPa, determine a) the temperature and quality of the steam (if mixture) at the final
state and b) the amount of heat lost from the tanks.

4.26 A piston-cylinder device equipped with a set of stops on the top contains initially 3kg
of air gas at 200 kPa and 27°C. The air is then heated, making the piston to rise until it hits
the stops, at which point the volume is twice the initial volume before the heating process.
Heat is continued to supply until the pressure reaches twice the initial pressure. Determine
the total work done and the amount of heat transfer.
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CONTROL VOLUME ANALYSIS

Conservation of mass

5.1 Air with density of 2.10 kg/m®is flowing steadily into a nozzle at 35 m/s and leaves at 175 m/s
with density of 0.77 kg/m3. If the inlet area of the nozzle is 90 cm?, determine the mass flow rate
through the nozzle, and the exit area of the nozzle.

5.2 To design a hair dryer, it should contain the following basic components: a duct of constant
diameter with a few layers of electric resistors, a small fan to pull the air in and to force it through
the heating resistors. If the density of air is 1.18 kg/m? at the inlet and 0.90 kg/m? at the exit, what is
the percent increase in the velocity of air as it flows through the dryer?

5.3 (Tutorial) Air is flowing at a velocity of 175 m/s into a 1-m? inlet of an aircraft engine at 100
kPa and 18°C. Compute the volume flow rate, in m%/s, at the engine’s inlet and the mass flow rate,
in kg/s, at the engine’s outlet.

5.4 (Tutorial) A pump is used to increase the water pressure from 70 kPa at the inlet to 700 kPa at
the outlet. Water first enters this pump at 15°C through a 1-cm-diameter opening and leaves through
a 1.5 cm-diameter outlet. The mass flow rate through the pump is 0.6 kg/s. Compute the velocity of
the water at the inlet and outlet. Will these velocities change significantly if the inlet temperature is
raised to 40 °C?

Nozzles and diffusers

5.5 Air at 75 kPa and 127°C is flowing steadily into an adiabatic diffuser at a rate of 5500 kg/h and
leaves at 100 kPa. The velocity of the air stream changes from 220 to 20 m/s as it passes through the
diffuser. Determine the exit temperature of the air and the exit area of the diffuser.

5.6 (Tutorial) An adiabatic nozzle is having a steady flow of carbon dioxide at 1 MPa and 500°C
with a mass flow rate of 5000 kg/h and leaves at 100 kPa and 400 m/s. The inlet area of the nozzle
is 35 cm?. Determine a) the inlet velocity and b) the exit temperature.

5.7 (Tutorial) The stators in a gas turbine are designed to increase the kinetic energy of the gas
passing through them adiabatically. Air flows steadily into a set of these nozzles at 2 MPa and
371°C with a velocity of 24.4 m/s and leaves the nozzles at 1.724 MPa and 341°C. What is the
velocity at the exit of the nozzles?

5.8 (Tutorial) Steam flows steadily with a velocity of 10 m/s into a nozzle at 400 °C and 800 kPa,
and leaves at 300 °C and 200 kPa. The nozzle is not adiabatic and hence, there is a heat loss which
is found to be at a rate of 25 KW. The nozzle inlet area is 800 cm?. What is the velocity and the
volume flow rate of the steam at the nozzle exit?

5.9 A steady flow of Refrigerant-134a is found in a diffuser. At the inlet, its state is a saturated
vapor at 800 kPa with a velocity of 100 m/s. At the outlet, the R-134a leaves at 900 kPa and 40 °C.
The refrigerant is also receiving heat from the surrounding at a rate of 1.8 kJ/s (or 1.8 kW) as it
passes through the diffuser. Also, it is found that the exit area is 75% greater than the inlet area.
What are the exit velocity and the mass flow rate of the refrigerant?
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Turbines and Compressors

5.10 (Tutorial) A steady flow of Refrigerant-134a enters a compressor at 180 kPa as a saturated
vapor with a flow rate of 0.40 m3/min and leaves at 700 kPa. The power supplied to the refrigerant
is measured to be 2.50 kW. What is the temperature of R-134a at the exit of the compressor?

5.11 Refrigerant-134a enters a compressor at a flow rate of 1.20 m®min with thermodynamic
condition of 100 kPa and -24°C. The flow leaves the compressor at 800 kPa and 60 °C. Determine
the mass flow rate of R-134a and the power required by the compressor.

5.12 (Tutorial) Steam is flowing steadily into an adiabatic turbine. The inlet conditions of the
steam are 6 MPa, 400 °C and 90 m/s, and the exit conditions are 40 kPa, 90% quality and 55 m/s.
The mass flow rate of the steam is 18 kg/s. Determine the change in Kinetic energy, the power
output and the turbine inlet area.

5.13 Steam flows steadily into a turbine at 10 MPa and 500 °C and leaves at 10 kPa with a quality
of 88%. The turbine is assumed to be an adiabatic turbine without losses. Neglecting the changes in
kinetic and potential energies, determine the mass flow rate required for a power output of 5.8 MW.

5.14 An adiabatic compressor is used to compress 8 L/s of air at 120kPa and 22 °C to 1000 kPa and
300 °C. Determine the work required by the compressor, in ki/kg, and the power required to run
this air compressor, in kW.

5.15 (Tutorial) Argon gas flows steadily with a velocity of 50 m/s into an adiabatic turbine at 1500
kPa and 450°C. The gas leaves the turbine at 140 kPa with a velocity of 140 m/s. The inlet area of
the turbine is 55 cm?. The power output of the turbine is measured to be 180 kW. Determine the exit
temperature of the argon.

5.16 (Tutorial) A compressor is used to compress Helium gas from 120 kPa and 300K to 750 kPa
and 450 K. A heat loss of 18kJ/kg is found during the compression process. Neglecting Kinetic
energy changes, compute the power input required to maintain a mass flow rate of 88 kg/min.

5.17 Air initially at 1400 kPa and 500°C is expanded through an adiabatic gas turbine to 100 kPa
and 127°C. Air enters the turbine at an average velocity of 45 m/s through the 0.18 m? opening, and
leaves through a 1-m? opening. Determine the mass flow rate of air through the turbine and the
power produced by the turbine.

5.18 (Tutorial) Steam enters a two-stage steady-flow turbine with a mass flow rate of 22 kg/s at
600 °C, 5 MPa. The steam expands in the turbine to a saturated vapor at 500 kPa where 8% of the
steam is removed for some other use. The remainder of the steam continues to expand all the way to
the turbine exit where the pressure is now 10kPa and quality is 88%. The turbine is assumed to be
adiabatic. Compute the rate of work done by the steam during the process. Neglect the change in
kinetic energy.

5.19 Steam expands through a turbine with a mass flow rate of 25 kg/s and a negligible velocity at
6 MPa and 600 °C. The steam leaves the turbine with a velocity of 175 m/s at 0.5 MPa and 200 °C.
The rate of work done by the steam in the turbine is measured to be 19 MW. Determine the rate of
heat transfer associated with this process.
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Throttling devices

5.20. (Tutorial) Consider the throttling valve shown on Fig. 5.20. The valve is crossed by a
gas with an inlet pressure of 1.2 MPa and inlet temperature of 20°C. The exit pressure is 100
kPa. Assuming that the velocity at the inlet and at the outlet remain the same, determine the exit
temperature and the ratio between the inlet and exit areas.

Fig.5.20

5.21. Consider an adiabatic throttling valve with water entering at pressure of 1.6 MPa, a
temperature of 150°C and a velocity of 4.5 m/s. The exit pressure is 300 kPa. Determine the
velocity at the exit.

Heat Exchanger

5.22. Two kg of water are condensed per second from 50 kPa and 300°C to saturated liquid. For
this purpose, cooling water enters the condenser at 20°C and leaves at 35°C. Determine the
required mass flow rate of the cooling water.

5.23. (Tutorial) The exhaust gases of a car are to be used to heat up water. 0.5 kg/s of hot gases
enter the heat exchanger at a temperature of 250°C and leave at a 150°C. If 0.5 kg/s of water enter
the heat exchanger with an inlet temperature of 20°C, determine the temperature of the water at the
exit.

Assume Cp for the hot gases and for the water to be 1.08 and 4.186 kJ/kg K, respectively.
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Conservation of mass

Question 1.

Flow through the nozzle is steady. Vi =35m/s AIR

A1 =90 cm? —_—> Vo =175 m/s

/

m= p,AV, = (2.10 kgm *)(0.009 m?)(35 m/s) = 0.6615 kg/s

There is only one inlet and one exit, and thus r, =m, =m. Then the exit area of the nozzle
is determined to be

M 0.6615 kg/s

- - =0.00491m? = 49.1cm?
PV,  (0.77 kg/ m”)(175 m/s)

m=p,AV, —> A, =

Question 2.

Flow through the nozzle is steady.

There is only one inlet and one exit, V2 Vi
and thus riy =, =m. Then, -«

m, =,
PLAV, = p, AV,
V, p _118kgm®
V, p, 090kgm?
Therefore, the air velocity increases 31.1% as it flows through the hair drier.

=1.311 (or,and increase of 31.1%)

Question 3.

Air is an ideal gas. The flow is steady.
The gas constant of air is Rs = 0.287 kPa-m3/kg-K
The inlet volume flow rate is
V. = AV, =(Am?)(175m/s) =175m?>/s
The specific volume at the inlet is
RT, (0.287 kPa-m®/kg - K)(18+ 273 K)

v, = =0.8352m°/kg
P, 100 kPa
Since the flow is steady, the mass flow rate remains constant during the flow. Then,
y 3
moa_ _IPME 566 53Kgls

v, 0.8352m°/kg



Question 4.
Flow through the pump is steady.

The inlet state of water is compressed liquid, approximated as a saturated liquid at the
given temperature. At 15°C and 40°C, we have:
T =15°C
x=0
T =40°C
x=0

} v, =0.001001m?>/kg

} v, =0.001008 m°3/kg

The velocity of the water at the inlet is

5 . 3
V, = my, _ 4ch1 _ 4(0.6 kg/s)(0.00locz)lm kg) 7647 mls
A 7D 7(0.01m)

Since the mass flow rate and the specific volume remains constant, the velocity at the
pump exit is

0.01m
0.015m

D, \’ 2
v, =V, :vl(—lj — (7.647 m/s)( ) = 3.3987 m/s
A, D

2

Using the specific volume at 40°C, the water velocity at the inlet becomes
5 B 3
v, = my, _ 4m«:1 _ 406 kg/s)(O.OOlOCZJSm kg) _ 7006 M/s
A D] 7(0.01m)

which is a 0.7% increase in velocity.




Nozzles and diffusers

Question 5.

Potential energy changes are negligible. The device is adiabatic. There is no shaft work.

The gas constant of air is 0.287 kPa.m%kg.K. The specific heat is assumed to be constant
Cp = 1.013 kJ/kg-K.

There is only one inlet and one exit, and thus r, =m, =m. We take diffuser as the system,
which is a control volume since mass crosses the boundary. The energy balance for this
steady-flow system can be expressed in the rate form as

%Z}/?K/ijmi(hi + V7?2 +%—me(he+ V22 7({29):0 /

m; =m, =m 1 _AIr 2
——
m(h, +V,2 /2) =m(h, +V2/2) (since Q = W = Ape = 0) \
V2 V2 ,
O=h, —hy +-2 > !
VAV (20 m/s)* — (220 mis)* (1 ki/kg
O=c (T, -T,)+-2 L — (1.013)kJ/kgK - 400K) +
(T =Ta) 2 (LOL3)kIkgk< (T ) 2 1000 m?/s?
T, =423.7K
(b) The specific volume of air at the diffuser exit is
3
o, KT _ (0.287 kPa-m’/kg - K 423.7 K) _ 1216 Mk
P, (100 kPa)
From conservation of mass,
5 3
a1 AV, UL (5500/3600 kg/s)(1.216 M°/KG) _ 1 100g 2

Vv, 20 m/s

2



Question 6.

The gas constant Rs of CO, is 0.1889 kPa.m3kg.K and the specific heat at constant
pressure Cp is assumed to be a constant of 1.126 kJ/kg.K

There is only one inlet and one exit, and thus my, =, =rm. Using the ideal gas relation, the

specific volume is determined to be \

RT, (0.1889 kPa-m3/kg-K)773K)
P, 1000 kPa 1 €Oy 2

Vl = = =O.146 mslkg
Thus, /

. 3
e LAy oy, (5000/3600 kg/s§0.1246 m/kg) _ 570 ms
v, A 35x10*m

We take nozzle as the system, which is a control volume since mass crosses the boundary.
The energy balance for this steady-flow system can be expressed in the rate form as

G-I+ V212 gy s V212 +95)=0

For steady state:
m; =m, =m

m(h, +V,2 12) =m(h, +V2/2) (since Q =W = Ape = 0)

V7 -V?
0=h, —h, + 22 L
Substituting,
V)7 —V/?
0=h,-h +2—1
V) -V?

0=c, (T, ~T)+ -+

2 _ 2
0 :1-126k3/kgK (Tz _ 773K) n (400m/s) (57.9m/s) [ 1kJ j

2 1000J
T, = 703.4K

Therefore the exit temperature of CO- is obtained to be T. = 703.4 K



Question 7.

Properties The specific heat of air at the average temperature of ~350°C is cp = 1.008
kJ/kg-K.

There is only one inlet and one exit, and thus my, =m, =m. We take nozzle as the system,

which is a control volume since mass crosses the boundary. The energy balance for this
steady-flow system can be expressed in the rate form as

%:ﬂﬁ/—)ﬂ(ﬁmi(hi + V722 +/gZ/i)—me(he+ V722 +%:O

m, =m, =m
2MPa
(hy +Vi% 12) = m(h, +V2/2) 371C  Air 1.724 MPa
hy +V,212=h, +V}2/2 244mfs —> 3alC
Solving for exit velocity,
0.5 0.5
V2 = B/IZ + 2(h1 - hz)] = B/lz + Zcp(Tl _Tz)]
0.5
- [(24.4 m/s)? + 2(1.008kJ/kg - K)(644 — 614)K *%}

=247m/s



Question 8.

This is a steady-flow process. Potential
energy change is negligible. There is \
400°C

no shaft work done. Steam 300°C
800 kPa — 200 kPa

We take the steam as the system, 10 m/s

which is a control volume since mass /

crosses the boundary. The energy Q

balance for this steady-flow system
can be expressed in the rate form as:

d
Energy balance: /a%éq—/{ﬂhi + V12 +91/i)—(he+ V2 +9¢Z.)=0
2

V. v} Q

or h +*+gq=h,+-2% whereq= =~
it g="n, 5 q 0

The properties of steam at the inlet and exit are (Table A-6)

P, =800 kPa | v, = 0.38429 m*/kg
T, =400°C | h =3267.7 ki/kg

P, =200 kPa | v, =1.31623 m*/kg
T, =300°C | h, =3072.1 ki/kg

The mass flow rate of the steam is

1 1 2
== A,=——— (0. 1 =2.082k
m " AV, 0.38429 75 (0.08M=)(10 m/s) 082kg/s
Substituting,
2 _ 2
3267.7 kilkg + L0 M) ( LK ng . j L E25KIB) o070 1kakg + V—Z(—l K kzg . j
2 1000 m*“/s 2.082 kg/s 2 \1000 m“/s

—>V, =606m/s
The volume flow rate at the exit of the nozzle is
V, = v, = (2.082 kg/s)(1.31623m*/kg) = 2.74m>/s
*Note that Q = - 25 kW (the negative sign denotes heat loss from the system to the

surrounding). Therefore, q = Q = (£25KIf)
m  2.082kg/s



Question 9.

This is a steady-flow process. Potential energy changes are negligible. There is no work.

From the R-134a tables 1.8 kd/s
P, =800 kPa }ul — 0.025621m?/kg %
sat.vapor h, = 267.29 ki/kg 1 R-134a

and \

P, =900 kPa | v, =0.023375 m*/kg
T, =40°C h, = 274.17 kl/kg

There is only one inlet and one exit, and thus iy, =, =m. Then the exit velocity of R-
134a is determined from the steady-flow mass balance to be

3
Loy, =tay sy, = Ay o L QOBBEMAD 44 )55 13 mss
v, v, v, A, 1 175 (0.025621 m/kg)

We take diffuser as the system, which is a control volume since mass crosses the
boundary. The energy balance for this steady-flow system can be expressed in the rate
form as

d . % . 2 0 2 /
=Q-W_ +m(h + V°/2 +9Z)-m,(h,+ VS /2 + =0
/% Q s |(| i 921) e(e e g e)
m, =m, =m
Q +m(h, +V,2/2) =m(h, +V2/2) (since W = Ape= 0)
2 _\y2
Q:m(hz—hﬁv2 2V1J

Substituting, the mass flow rate of the refrigerant is determined to be

+1.8 kJ/s = m| (274.17 — 267.29)kJ/kg + ~—
2 1000 m</s

(52.13 mis )’ — (100 m/s)? ( 1kJ/kg D

It yields
m = 0.556 kg/s



Turbines and Compressors

Question 10.

This is a steady-flow process. Kinetic and potential energy changes are negligible. Heat
transfer with the surroundings is negligible. So adiabatic system.

We take the compressor as the system, which is a control volume since mass crosses the
boundary. Noting that one fluid stream enters and leaves the compressor, the energy
balance for this steady-flow system can be expressed in the rate form as

%%_wﬁmm " \%+ i)—me(hﬁ% 7/#0

m, =m, =m

W, +mh, =mh, (since Ake = Ape= 0) State 2

' \700 kPa
W, =m(h, —h;)

Compressor——]
From R134a tables (Table A-12) W
P, =180 kPa} h, = 242.86 ki/kg "
X =0 v; =0.1104 m3/kg T State 1
The mass flow rate is 180 kPa
sat. vap.

_V, _ (0.40/60) m*/s
Tv,  0.1104m/kg
Substituting for the exit enthalpy,
Ws = m(hl - hz)
(—2.5kJ/s) = (0.0604 kg/s)(242.86 — h, )kI/kg——>h, = 284.25 ki/kg

= 0.0604 kgs 0.40 m¥min

From Table,
P, = 700 kPa
T, =48°C
h, = 284.25kJ/kg

W, = - 2.5 KW (negative value) since the work is supplied to the system to run the
COmMpressor.



Question 11.

This is a steady-flow process. Kinetic and potential energy changes are negligible.

We take the compressor as the system, which is a control volume since mass crosses the
boundary. Noting that one fluid stream enters and leaves the compressor, the energy
balance for this steady-flow system can be expressed in the rate form as

%:)z/_wsmi(hi n vf/r/+9£)—me(he+>z/4+}40

M, =m, =m

W, +rmh, =mh,  (since Ake = Ape=0)

Ws =m(h, —h,)

From R134a tables:
P, =100 kPa
T, =-24°C
P, =800 kPa
T, =60°C

The mass flow rate is

h, = 236.33kl/kg
v; =0.1947 m3/kg

}hz = 296.81kJ/kg

_V, _ (1.20/60)m®/s

Vl
Substituting,

W, = i(h, —h,) = (0.1027 kg/s)(236.33 - 296.81)kJ/kg

0.1947 mlkg =0.1027kg/s

800 kPa
60°C

[ | Compressor

100 kPa
-24°C
1.20 m3/min

6.21kW

Work input to the system



Question 12.

This is a steady-flow process. Potential energy changes are negligible. The device is
adiabatic and thus heat transfer is negligible.

From the steam tables P, = 6 MPa
P =6 MPa}u1 =0.047420 m3/kg T1=400°C
T, =400°C | h, =3178.3kJ/kg V1 =90 m/s
and l
P, =40 kPa
h, =h; +x,h¢, =317.62+0.90x 2392.1 = 2470.5 kJ/kg
X, = 0.90 ) STEAM ]
m=18 kals | _
(@) The change in kinetic energy is determined from w
2 _\y2 2 2
ke V2TV _ (55 m/s)* — (90 m/s) 1kJ/k29 ) 254Kkg
2 1000 m*/s
P, = 40 kPa
. . . X2 =0.90
(b) There is only one inlet and one exit, and thus riy =, = . Vs = 55 m/s

We take the turbine as the system, which is a control volume
since mass crosses the boundary. The energy balance for this
steady-flow system can be expressed in the rate form as

%_/é_werm,(h, + V722 +/éi)—me(he+ V212 +¢Z.)=0
, = M, =

W, +m(h, + V2/2)=m(h, + V,?/2) (since Q= Ape= 0and adiabatic)

2 _\y2
W, - —m(hz “h, +VTVJ

Then the power output of the turbine is determined by substitution to be
W, = —(18 kg/s )(2470.5—3178.3 - 2.54)kJ/kg = 12,786 KW =12.79 MW

(c) The inlet area of the turbine is determined from the mass flow rate relation,

5 3
. iAlvl A = my, _ (18 kg/s)(0.047420 m*/kg)
v, V, 90 m/s

=0.00948 m?




Question 13.

This is a steady-flow process. Kinetic and potential energy changes are negligible. The
device is adiabatic.

Properties From the steam tables

1
P, =10 MPa
h, =3375.1kJ/kg l
T, =500°C
P, =10 kPa H,0
h, =h; +X,h,, =191.81+0.88x 2392.1= 2296.9 ki/kg

X, =0.88 w
There is only one inlet and one exit, and thus ry, =, =m. We )

take the turbine as the system, which is a control volume since
mass crosses the boundary. The energy balance for this steady-
flow system can be expressed in the rate form as

%%—wﬁmi(n + \9}//2 +}24—me(he +)le//2 +9Z.)=0

m, =m, =m

W, +mh, =mh, (since Ake = Ape=0)
W, =m(h, —h,)

Substituting, the required mass flow rate of the steam is determined to be
+5800 kJ/s = m(3375.1- 2296.9) kJ/kg—> m =5.38 kg/s

T

Positive because it is work output from the turbine.



Question 14.

This is a steady-flow process. Kinetic and potential energy changes are negligible. Air is
an ideal gas with constant specific heats.

The constant pressure specific heat of air is determined at the average temperature ¢, =
1.018 kJ/kg-K. The gas constant of air is R = 0.287 kPa-m3/kg-K.

There is only one inlet and one exit, and thus m, =, = . We take the compressor as the
system, which is a control volume since mass crosses the boundary.
The energy balance for this steady-flow system can be expressed in the rate form as

%:}{—Wermi(hi + %/2 yz/i)—me(heer}/’z +97,)=0

, =, = m
. _ 1 MP
W, +rhh, =mh,  (since Ake = Ape= 0) 200°C

Ws =m(h, —h,)

Compressor

Ws =m(h, —h,) = mcp(Tl -T,)
Thus,

120 kPa
w, =c, (T, - T,) = (1.018 kJ/kg - K)(295-573)K ;—283.0 kJ/kg 22°C

Negative to denote work input 8Lis

The specific volume of air at the inlet and the mass flow rate are

RT, (0.287 kPa-m®/kg - K)(22+ 273K)
P, 120 kPa

y 3
mota_ 0008MYS 461134 kgs

v, 0.7055m°/kg
Then the power input is determined from the energy balance equation to be

W, = riw, =- 3.21kW

=0.7055m*/kg

v, =



Question 15.

This is a steady-flow process. Potential energy changes are negligible. The device is
adiabatic. Argon is an ideal gas with constant specific heats.

The gas constant of Ar is Rs = 0.2081 kPa.m®/kg.K. The constant pressure specific heat of
Aris cp = 0.5203 kJ/kg-K

There is only one inlet and one exit, and thus r, =, =r. The inlet specific volume of
argon and its mass flow rate are

RT, (0.2081kPa-m%kg-K)723K)

v, = = =0.1003 m®/k _

) 1500 kPa 9 A=55cm’

P1 = 1500 kPa
Thus, T1=450°C
m=1 AV, =T (0.0055m? )50 mis)=2.742 kgls V1= 50 M/
v, 0.1003 m®/kg l
. . Araon ]

We take the turbine as the system, which is a 180 kW
control volume since mass crosses the

boundary. The energy balance for this
steady-flow system can be expressed in the
rate form as

g P, = 140 kPa
%%%—Wﬁmi(hi + V212 +gZ;)-my(h, + V.2 /2 +92{)=o V2 =140 m/s

m, =m, =m

m(h, +V,>/2) =W, +m(h, +V2/2) (since Q = Ape= 0)
2 \y2
- oafp W

Substituting,

2 2
+180 kIfs = —(2.742 kgis)| (0.5203 ki/kg - K)(T, — 723K) + LA0MS)” ~(0mS)"f_ 1kikg
2 1000 m?/s

It yields
T2 =580.4K



Question 16.

This is a steady-flow process. Kinetic and potential energy changes are negligible.
Helium is an ideal gas with constant specific heats.

The constant pressure specific heat of helium is given as ¢, = 5.1926 kJ/kg-K

There is only one inlet and one exit, and thus iy =, = .
We take the compressor as the system, which is a control
volume since mass crosses the boundary. The energy
balance for this steady-flow system can be expressed in the
rate form as

P, = 750 kPa
dd;=Q—vvs+mi<hi +vi2//+/gzi)—me(he+\W)=o T2=450K

m, =, = m _
Q Helium
W, —Q =m(h, —h,) (since Ake = Ape=0) 88 kg/min N
W, =m(h, —h,)+Q =ric (T, - T,)+Q T
P, =120 kPa
T1=300 K

Thus,
Ws = Q + me(Tl _TZ)
= (88/60 kg/S)(-lS kJ/kg) + (88/60 kg/s)(5.19 26 kJ/kg . K)(300— 450)K
=-1168.8 k

Work input Heat loss



Question 17.

This is a steady-flow process. The turbine is well-insulated, and thus adiabatic. Air is an
ideal gas with constant specific heats.

The constant pressure specific heat of air at the average temperature of (500+127)/2 =
314°C =587 K is ¢p = 1.048 kJ/kg-K. The gas constant of air is Rs = 0.287 kPa-m3/kg-K

There is only one inlet and one exit, and thus m, =m, =m. We take the turbine as the

system, which is a control volume since mass crosses the boundary. The energy balance
for this steady-flow system can be expressed in the rate form as

d .
S=0O-W.+m(h + V?/2 +9Z)-m.(h. + V2/2 + =0
7(? ﬁ s |(| i g%) e(e e ?Ze)

m, =m, =m
. AR Vv, - 1.4 MPa
m(h1 +2J = m(h2 +7 +W, 500°C
45 m/s

2 2 2 _y\y2
W, = r’h(hl—h2 + 4 2V2 j:m(cp(Tl—Tz)-i-Vl 2V2 J

The specific volume of air at the inlet and the mass flow rate are
RT, (0.287 kPa-m®/kg - K)(500+ 273 K)

Turbine

v, = =0.1585m*/kg
P, 1400 kPa 100 kPa
2 127°C
. AV _ (0.18m )(435 m/s) _51.1Kgls
v, 0.1585m*°/kg
Similarly at the outlet,
3
v, = RT, _ (0.287 kPa-m~/kg - K)(127+ 273 K) _1148m%kg
P, 100 kPa
3 3
V, = mv, _ (511 kg/s)(l.%48m kg) 5866 Mm/s
A, Im

(b) Substituting into the energy balance equation gives

_ VAL
Wszm(cp(Tl—T2)+ 1 5 2]

- (511 kg/s)[(1.048 KIlkg - K)(773— 400)K + (45 MVS)” = (58.66 mis)” ( 1kikg ﬂ

2 1000 m?/s?
=19,939kW



Question 18.
This is a steady-flow process. Kinetic and

potential energy changes are negligible. The 5> MPa
turbine is adiabatic. 600°C
22 Kkgls

From the steam tables ‘ \/
P, =5MPa /l /

h, = 3666.9 k/kg
T, = 600°C

P, =0.5MPa
? }hz = 2748.1kJ/kg

X, =1 T~ 1 r I
T~
P3:10kPa}h3:hf +xh, hl\

X, =0.88 =191.81+ (0.88)(2392.1) = 2296.9kJ/kg F‘_J 10 kPa
l x=0.88

We take the entire turbine, including the 0.5 MPa

connection part between the two stages, as the sat. vap.

system, which is a control volume since mass
crosses the boundary. Noting that one fluid
stream enters the turbine and two fluid
streams leave, the energy balance for this
steady-flow system can be expressed in the
rate form as

/dd%:%—ws +> mi(h, +W)—Zme(he+ W)zo

m, = m, + m, (conservation of mass)

m,h, =, h, +mh, +W,
W, =, (h, —0.08h, —0.92h,)
Substituting, the power output of the turbine is
W, = m, (h, —0.08h, —0.92h,)
= (22 kg/s)(3666.9 —0.08 x 2748.1—0.92 x 2296.9) ki/kg
=29,346 kW



Question 19.

Steam expands through a turbine with a mass flow rate of 25 kg/s and a negligible
velocity at 6 MPa and 600 °C. The steam leaves the turbine with a velocity of 175 m/s at
0.5 MPa and 200 °C. The rate of work done by the steam in the turbine is measured to be
19 MW. Determine the rate of heat transfer associated with this process.

This is a steady-flow process since there is no change with time. Kinetic and potential
energy changes are negligible.

From the steam tables
P, =6 MPa
T, =600°C
P, =0.5MPa
T, =200°C

}hl — 3658.8kJ/kg

}hz = 2855.8 ki/kg

We take the turbine as the system, which is a control volume since mass crosses the
boundary. Noting that one fluid stream enters and leaves the compressor, the energy
balance for this steady-flow system can be expressed in the rate form as

%=Q—ws+2mi<hi V712 4 g2 =S, + V2 542,) =0

M, = MM, = m
, V2 . V2 S _ 25 kg/s
m[hl +%] = m(h2 +72J+WS -Q (since Ape=0) 6 MPa
, , 600°C
L vV, -V
=W. +mlh, —h, +-2 "1 _
Q s”“( L j Turbine ]
Substituting,
V2 _\2 0.5 MPa
Q=V\'/S+m(h2—h1+ 21 J 200°C

. 2
~ (+19,000KW) + (25 kgfs) | (2855.8 - 3658.8)kd/kg + - >0 MS) ( Lkikg j
2 1000 m?/s

=-692.2kW

T

Negative for heat loss.
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SECOND LAW OF THERMODYNAMICS

6.1 A car engine produces 30 hp while rejecting 35 kW to the atmosphere. Determine its thermal
efficiency.

6.2 (Tutorial) Your refrigerator extracts 2.5 kJ of energy form the food in the cabinet. If its
compressor requires 1.5 kJ as input, determine the coefficient of performance of the refrigerator and
the amount of heat rejected into the room.

6.3 In order to heat up your room during winter you need a 2000 W heater, determine the COP of
the heater if you want the energy consumption not to exceed 500 W.

6.4 Could you cool down an apartment by opening the door of the refrigerator? Explain why. To
make this theoretically feasible, what modification you have to introduce?

6.5 (Tutorial) A simple Rankine cycle requires 2 MW of heat in the boiler and rejects 1 MW into a
nearby river. Assuming the work of the pump is negligible, determine the thermal efficiency of the
cycle and the power produced by the turbine.

6.6 1) Sketch a cycle that violates the Kelvin-Planck statement of the second law of
thermodynamics. 2) Sketch a cycle that violates the Clausius statement of the second law of
thermodynamics. 3) Show that a cycle that violates Kevin-Planck statement will also violate
Clausius statement of the second law of thermodynamics.

6.7 You have access to two heat reservoirs of 200°C and 23°C. What will be the maximal
efficiency of any heat engine designed to work between the two reservoirs?

6.8 (Tutorial) The average winter low temperature in winter in Montreal is around -13°C.
However, far enough below the ground, the temperature can remain above zero and reaches around
10°C. If you want to design a heat engine using this difference in temperature, what will be its
maximal efficiency?

6.9 What is the maximal performance of a heat pump operating between reservoirs of 5°C and
23°C?

6.10 Estimate the maximal performance of your home refrigerator?

6.11 An inventor was invited to the show ‘Dragon’s Den’ on CBC and claims that she/he
developed an innovative design for a heat engine capable of receiving 300 KW of heat from a
reservoir of 1000 K and rejecting 100 KW to a reservoir of 400 K. The inventor asks for a million
dollars investment for 20% of his company. As an engineer you are asked to give your opinion on
the invention to one of the Dragons, what will be your advice and why?



6.12 A household refrigerator uses refrigerant-134a as the working fluid. The refrigerant enters the
evaporator coils at 100 kPa with a vapor quality of 0.20 and leaves at the same pressure and -26°C.
If the compressor consumes 550W of power and the COP of the refrigerator is 1.25, what is the
mass flow rate of the refrigerant and the rate of heat rejection to the kitchen air.

6.13 A heat engine receives heat from a thermal reservoir at 1200 °C and has a maximum thermal
efficiency of 38%. The heat engine does maximum work equal to 600 kJ. What is the heat supplied
to the heat engine from the reservoir? What is the heat rejection and the temperature of the
lower temperature reservoir?

6.14 An inventor claims to have developed a heat pump that provides a 180 kW heating effect for a
293 K household while only consuming 70 kW of power and using a heat source at 273 K. Can this
claim be possible?

6.15 (Tutorial) A heat pump is used to heat a house and keep it at 20°C. On a day when the
average outdoor temperature remains at about 2°C, the house is estimated to lose heat at a rate of
120,000 kJ/hr. A power input of 5 kW is needed to run the heat pump. Is this HP powerful enough
to do the job?
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6.12

Ou
The properties of R-134a at the evaporator ‘,
inlet and exit states from Tables: Condenser
P, =100kPa
5 =02 }h, = 60.71 kl/kg Expansion W
- valve Compressor —
F, =100kPa }hz = 234.74 /kg
T, =~26°C
Evaporator —
(a) The refrigeration load is: 100 kPa 100 kPa
O, = (COPYW,, = (1.25)(0.550kW) = 0.6875kw  *¥=0-2 O -26°C
The mass flow rate of the refrigerant is determined from:
0, 0.6875kW

it = = =0.00395kgls
h,—h,  (234.74—60.71)ki/kg

(b) The rate of heat rejected from the refrigerator is:
Oy =0, +W, =0.6875+0.55=1.2375 kW

6.13

Applying the definition of the thermal efficiency and an

energy balance to the heat engine:

QH=ZEL=%=1579KJ 1 = 38%
N, 0.38
0, =0y ~W,_, =1579-600=979kJ 600 kJ
Moo =1~ k5038 =1 7,
Ty (1250+273)K

Page 3 of 4



6.14

Apply the definition of the heat pump coefficient of performance: m
COP, = On_ _180KW _, o7 Oy
Werin T0kW @
The maximum COP of a heat pump is: _ 70 kW
1 1 o

COPp o =

= = = 14.7
1-T, /T, 1-(273K)/(293K) @
Since the actual COP is less than the maximum COP, the claim is valid.

6.15

The power input to a heat pump will be a minimum when the heat pump operates in a reversible
manner. The COP of a reversible heat pump is:

COPyp, = — = : =16.28 120,000 kJ/h

1-(1,/T,) 1-(2+273K)(20+273K)
. . . . . House
The required power input to this reversible heat pump is 20°C
determined from the definition of the COP:
Wmmm - Ou _120,000kJ/h( 1h 2,05 kW
COPy, 16.28 3600 s @ 5 kW
This heat pump is powerful enough since 5 kW >2.05 kW.

Page 4 of 4



THERMODYNAMIC CYCLES

Rankine cycle

7.1 This problem analyzes a simple ideal Rankine cycle with R-134a as the working fluid. The
boiler operates at 1.6 MPa, the condenser at 0.4 MPa, and the turbine inlet at 80 °C. The flow
leaving the turbine has a temperature of 28°C. The pump requires a specific work of 0.95 kJ/Kkg.
Determine the mass flow rate of R-134a required for a 750 kW power production and the resulting
thermal efficiency of the cycle. Assume no loss or heat transfer between each open-system
components.

7.2 (Tutorial) Steam is the working fluid in an ideal Rankine cycle. Saturated vapor enters the
turbine at 8.0 MPa and the flow leaves the turbine as a saturated two-phase mixture with a vapor
quality of 67.45%. Saturated liquid exits the condenser at a pressure of 0.0075 MPa. The net power
output of the cycle is 100 MW. The pump consumes a specific work of 8.06 kJ/kg. Calculate for the
thermal efficiency of the cycle, the mass flow rate of the steam, in kg/h and the rate of heat transfer
in the boiler and that from the condensing steam through the condenser, both in MW. Calculate also
the mass flow rate of the condenser cooling water, in kg/h, if cooling water enters the condenser at
15 °C and exits at 35 °C.

Brayton cycle

7.3 (Tutorial) An aircraft engine is operating on a ideal Brayton cycle with a pressure ratio of 15.
Heat is added to the cycle at a rate of 500 kW; the mass flow rate in the engine is 1kg/s and the air
entering the compressor is at 70 kPa and 0°C. Determine the power output by this engine and its
thermal efficiency. Assume constant specific heats at room temperature.

7.4 A gas turbine power plant is operating on the simple Brayton cycle with air that has a pressure
ratio of 12. The compressor and turbine inlet temperatures are 300K and 1000K, respectively.
Determine the required mass flow rate of air for a net power ouput of 65 MW. Assume both
isentropic compressor and turbine (i.e., polytropic with n = k) and constant specific heats at room
temperature.

Otto cycle

7.5 (Tutorial) An engine with a compression ratio of 9.0 is running on an air-standard Otto cycle.
Prior to the compression process (modeled by a polytropic process with n = k = 1.4), the air is at
100 kPa, 32°C and 600 cm®. The temperature at the end of the polytropic, expansion process is 800
K. Determine the highest temperature and pressure in the cycle; b) the amount of heat transferred in
kJ and c) the thermal efficiency. Assume constant specific heat values at room temperature.

7.6 A1.6-L Sl engine is operating on a 4-strokes Otto cycle with a compression ratio of 11. The air
is at 100 kPa and 37°C at the beginning of the compression process, and the maximum pressure in
the cycle is 8 MPa. The compression and expansion process may be modeled as isentropic (i.e.,
polytropic process with n = k = 1.4. Determine a) the temperature at the end of the expansion
process, b) the net work output and the thermal efficiency. Assume constant specific heats at 850 K
temperature.
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Question #1

Steady operating conditions exist. Kinetic and potential energy changes are negligible.
From the refrigerant tables,
h, =N g oampa = 63.94 ki/kg

U = Vi gosmra = 0.0007907 m¥/kg

h, = h, —w, = 63.94 - (~0.95) = 64.89 kl/kg

P, =1.6 MPa | h, =305.07 kJ/kg
T, =80°C
P, = 0.4 MPa

! h, = 273.21kJ/kg superheated (interpolation)
T, =28°C

Thus,
Qpoiier = N3 —h, =305.07 —64.89 = 240.18 kJ/kg
=h, —h, =63.94 —-273.21=-209.27 ki/kg
wine = Nz —h, =305.07 —273.21 = 31.86kJ/kg
W =W +w_ . =31.86+(—0.95) = 30.91kJ/kg

net — "Yturbine pump

qcondenser

W

The mass flow rate of the refrigerant and the thermal efficiency of the cycle are then

o W  750kJis
W,  30.91kJ/kg
Qou _; 20927 _

= 1— = =
Mt Qi 240.18

=24.26 kg/s

0.129

@..

Wiarb,out

W ! Turbine
pump,in

EC Pump

@ Condenser
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Question #3

Steady operating conditions exist. The air-standard assumptions are applicable. Kinetic
and potential energy changes are negligible. Air is an ideal gas with constant specific
heats. The properties of air at room temperature are ¢, = 1.005 kJ/kg:K and k=1.4

For the isentropic compression process,
T, =Tur (7K = (273K)(15)°44 =591.8 K

T
The heat addition is | 3
Q., 500 kW Gin
n =0 — =500 kJ/k

Gin =" 1kgls g 2

Applying the first law to the heat addition process, 4
273 K
Qin :Cp(T3 -T,) 1 Qout

500 ki/kg

2 _1089K
1.005 kJ/kg - K

T, =T, +3n _591 8K +
Cp

The temperature at the exit of the turbine is
1 (k-1)/k 1 \04L4
T, =Ty — = (1089 K)(—j =502.3K
Mo 15
Applying the first law to the adiabatic turbine and the compressor produce
wr =¢, (T3 —T,) = (1.005 kJ/kg - K)(1089 —502.3)K = 589.6 ki/kg
We =¢, (T, —Tp) = (1.005 ki/kg - K)(591.8 — 273)K = 320.4 ki/kg

The net power produced by the engine is then

Wit =MWy —we) = (1kg/s)(589.6 —320.4)kI/kg = 269.2 kW
Finally the thermal efficiency is

w :
o = Ve _ 2092KW ) o
Q, 500kwW




Question #4

Steady operating conditions exist. The air-standard assumptions are applicable. Kinetic
and potential energy changes are negligible. Air is an ideal gas with constant specific
heats. The properties of air at room temperature are ¢, = 1.005 ki/kg-K and k = 1.4,

Using the isentropic relations,

(k=1)7k
T, = Tl(%j = (300 K)12)*** = 610.2 K

1

p (k=1)/k 1 0.4/1.4
T, =Ty = = (1000 K) = =491.7 K
P 12

3

W, =y —hy =, (T, —T,) = (1.005 ki/kg - K)}610.2 — 300)K = 311.75 k/kg
W, 1oy = hy —h,g =c, (T, =T, ) = (1.005 kd/kg - K 1000 — 491.7)K = 510.84 k/kg
W, pegour = Werou = Wscin = 510.84 —311.75 =199.1 ki/kg
W
i, = o _ 69000KIS _ 56 5y

Ws,net,out

©199.1kJ/kg



Question #5

The properties of air at room temperature are ¢, = 1.005 kJ/kg-K, ¢, =0.718 ki/kg-K, R

=0.287 kJ/kg-K,and k=1.4.

Process 1-2: isentropic compression.

k-1
T, =T{ﬁj = (305 K)9.0)** = 7345 K

v,

Pve _Rv p _Tep(g0f 245K Va0 kpa) = 2167 kPa
T, T, v, T, 305K

Process 3-4: isentropic expansion.

\V4

SV

k-1
T, :T4(%] = (800 K)(9.0)* = 1926.5 K

3

Process 2-3: v = constant heat addition.

Povs _Povs p _Tap _[19265K 0167 pa)— 56838 kPa
T, T, T, 7345K
3
C_PY_ (oo kPa)0.0006m*) 6.8544x10kg

RT, (0.287 kPa-m®/kg - K (305 K)

Qus = M(uy —u, ) =me, (T, —T,) = (6.8544 x10* kg (0.718 ki/kg - K }(1926.5 - 734.5)K = 0.587 kJ

W, , =m(u, —u,) = mc, (T, - T,) = (6.8544 x10*kg {0.718 ki/kg - K }(305 — 734.5)K = -0.2114 kJ

W,_, =m(u, —u,) = mc, (T, — T,) = (6.8544 x 10 kg )0.718 k/kg - K {1926.5 — 800)K = 0.5544 kJ

Qs = M(u, —u,) = mc, (T, - T,) = (6.8544 x10*kg {0.718 ki/kg - K }(305 — 800)K = -0.2436 kJ

Then:
W, =W,_, +W, , =(-0.2114) + (0.5544) = 0.343kJ

Wi 0.343KJ

= =58.4%
Q, 0587kl

M =



Question #6

Properties The properties of air at 850 K are ¢, = 1.110 kJ/kg-K, ¢, =0.823 kJ/kg-K, Rs
=0.287 kJ/kg'K, and k=1.349

(a) Process 1-2: polytropic compression P
n-1 A 3
T, :Tl[ﬁj = (310 K)(L1)*** = 715.8 K
v, _
an
(2 1.349 ™
P, = P{—J = (100 kPa J11)"** = 2540 kPa
v,
4
w,_, =(u, —u,)=c, (T, - T,) = -333.97 ki/kg 2 \ Ou
1
Process 2-3: constant volume heat addition y >

P
T, =T, [ﬁj = (715.8K)(%j =22545K
2

O3 =U3—U, = Cu(Tz _Tz)
= (0.823 kJ/kg - K )(2254.5 - 715.8)K =1266.4kJ/kg
Process 3-4: polytropic expansion.

v n-1 1 1.349-1
T, =T{—3J = (22545 K)(ﬁj =976.3K

v,

v n 1 1.349
P, = P{—Zj - (8000 kPa)(ﬁj =315kPa

vy

w,, = (u, —u,) =c, (T, —T,) = (0.823 k/kg - K)(2254.5 — 976.3)K =1051.96 ki/kg

Process 4-1: constant volume heat rejection.
(b) The net work output and the thermal efficiency are

W, =W, +W,, =(-333.97)+ (1051.96) = 717.99 kJ/Kg

k-1 1.349-1
M = Woee _ 11799 KIKG _ 5660 _ 56 706 = 1- (Ej :1_[1)
0,, 1266.4 ki/kg 11




ENTROPY AND ISENTROPIC EFFICIENCY

8.1 Air is compressed steadily by a compressor which consumes 25 kW of power. The air
temperature is maintained constant at 25°C during this compression process as a result of heat
transfer to the surrounding at 17°C. Determine the rate of entropy change of the system (i.e., air).

8.2 A rigid tank is divided into two equal parts by a partition. One part is filled with 3 kg of
compressed liquid water at 400 kPa and 60°C while the other side is evacuated. The partition is
removed and water expands into the entire tank until the tank reaches a pressure of 40 kPa. What
is the entropy change of the water during this process?

8.3 Steam is expanded in an isentropic turbine (i.e., during the expansion inside the turbine the
entropy remains constant). It enters the turbine at 6 MPa and 400°C, and leaves the turbine at
100 kPa. What is the change in the specific enthalpy of the water between the turbine inlet and
outlet?

8.4 A cylinder contains 0.5kg of N; gas initially at 37 °C and 140 kPa. The gas is compressed
polytropically with n = 1.3 until the volume is reduced by half. Determine the entropy change of
nitrogen during this process.

8.5 Steam is expanded in an isentropic turbine. At the inlet, the steam is at 2MPa and 360 °C.
The flow leaves the turbine at 100 kPa. What is the work produced by this turbine?

8.6 2 kg of saturated water vapor initially at 600 kPa is expanded adiabatically in a piston-
cylinder device until it reaches a pressure of 100kPa. It is said to produce 700 kJ of work from
this process. What is the entropy change during this process? Is it realistic?

8.7 Air initially at 800 kPa and 100 °C with a velocity of 25 m/s is expanded in an adiabatic
nozzle by a polytropic process with n = 1.3. It exits the nozzle with a pressure of 180 kPa.
Determine the temperature and velocity at the nozzle exit.

8.8 5-kg of Air initially at 600 kPa and 410°C is expanded adiabatically in a piston-cylinder
device until the pressure is 100 kPa. Assuming it produces 550 kJ of displacement work, what is
the entropy change during this process and if this process is realistic. Assume constant air
properties evaluated at 300 K.

8.9 Steam initially at 7 MPa, 600°C, and 75 m/s enters an adiabatic turbine and leaves it at 50
kPa, 150°C and 130 m/s. If the power output of the turbine is 5 MW, what are the mass flow rate
of the steam and the isentropic efficiency of the turbine?

8.10 Air is expanded by an adiabatic turbine from 1.8MPa and 320 °C to 100 kPa. Determine
the isentropic efficiency if the air leaves the turbine at 0 °C.

8.11 Air is compressed by an adiabatic compressor from 27 °C and 95 kPa to 277 °C and 600
kPa. Determine the isentropic efficiency of the compressor and the exit temperature of air for the
isentropic case. Assume constant air properties evaluated at room temperature.

8.12 Refrigerant-134a initially as saturated vapor at 100 kPa enters an adiabatic compressor with
an isentropic efficiency of 0.80 at a volume flow rate of 0.7 m*/min, and leaves the compressor at
1MPa. Determine the compressor exit temperature and power input to the compressor.



8.13 Consider a simple Brayton cycle using air as the working fluid. The pressure ratio of this
cycle is 12. The maximum cycle temperature is 600°C. The compressor inlet is at 90 kPa and
15°C. Which will have the greatest impact on the back-work ratio Wc/W+: a compressor
isentropic efficiency of 90% or a turbine isentropic efficiency of 90%. Assume constant specific
heats of air at room temperature.

8.14 A simple Rankine cycle with water as the working fluid operates between 6MPa and
50kPa.The turbine’s inlet temperature is 450°C. The isentropic efficiency of the turbine is 94%.
Pressure and pump losses are negligible. The water leaving the condenser is subcooled by 6.3°C.
The mass flow rate is given to be 20 kg/s and the specific pump work is 6.1 kJ/kg. Determine the
rate of heat addition in the boiler, the power input to the pumps, the net power, and the thermal
efficiency of the cycle.

8.15 A simple ideal Rankine cycle with water as the working fluid is considered. The working
fluid operates its condenser at 40°C and its boiler at 300°C. The pump requires a specific work
input of 8.65 kJ/kg. Determine the work output from the turbine, the heat addition in the boiler,
and the thermal efficiency of the cycle.

8.16 A gas turbine power plant that operates on the simple Brayton cycle with air as the working
fluid has a pressure ratio of 12. The inlet temperature of the compressor and turbine are 300K
and 1000 K, respectively. Determine the required mass flow rate of air for a net power output of
70 MW, assuming both the compressor and the turbine have an isentropic efficiency of a) 100%
and b) 85%. Assume constant air properties evaluated at room temperature.



Question 8.1

Noting that h = h(T) for ideal gases, hence, h; = h, since T; = T, =25°C. From the steady

energy equation:

Q=W =-25kW
The rate of entropy change of air is:
A, =2 =BV _ 4 58389 kwik

T 298 K

sys

Question 8.2

The properties of the water are
P, =400 kPa | v; = v ggoec =0.001017m /kg
T, =60°C [, =S{gepec =0.8313kl/kg K

v, =2v; =(2)0.001017) = 0.002034 m* /kg

Vo —v¢ 0.002034 -0.001026

P>

Q \T
AIR
T = const.

T

P,

330

2.5kg
compressed
liquid

400 kPa
60°C

Vacuum

P, =40 kPa X, =
v, =0.002034 m*/kg

Then the entropy change of the water:

vig  3.993-0.001026
S, =S¢ + XSy =1.0261+(0.0002524)6.6430)=1.0278 ki/kg - K

=0.0002524

AS =m(s, —s,)=(3 kg)1.0278 —0.8313)kl/kg - K = 0.5895 kJ/K

Question 8.3
The initial state is superheated vapor:
P, =6MPa } h, =3178.3kJ/kg

(Table A - 6)
T, =400°C | s, =6.5432kl/kg-K

The entropy is constant during the process. The final state
is a mixture since the entropy is between S and Sq for 100

kPa. The properties at this state are:
S; =S¢ (6.5432-1.3028) kl/kg-K
Stg 6.0562 ki/kg - K

=0.8653

X2:

hy =hy +x,hyy = 417.51+(0.8653)(2257.5) = 2370.9 ki/kg

The change in the enthalpy across the turbine:
Ah=h, —h, =2370.9-3178.3 =—-807.4 kJ/kg




Question 8.4
N as an ideal gas. Nitrogen has constant specific heats at room temperature: Rs = 0.2968
kJ/kg.K and ¢, = 0.743 kJ/kg.K.

From the polytropic relation,

n-1 n-1
T_Zz(i] —T, :Tl(i] =(310K)2)""" =381.7K \L
T vy vy
Then the entropy change of nitrogen: N2
pwl3 =

ASy, = m[c In-_rr—2+ Rln&]

v,avg
1 1

=(0.50 kg)[(o.743 kl/kg-K)In 3511(')7KK +(0.2968 kl/kg - K)ln(O.S)j =-0.02557 kJ/K

Question 8.5
The process is isentropic. For steady state: m, =m, =m. From the energy balance for this
steady-flow system:
rh, = mh, +W 2 MPa
W =m(h, —h,) 360°C
The inlet state properties are
P, =2MPa } h, =3159.9 kJ/kg

T, =360°C | s, =6.9938kl/kg-K 100 kPa

For this isentropic process, the final state properties are
S; =S¢ 6.9938-1.3028

St 6.0562
h, =h, +x,h, =417.51+(0.9397)(2257.5) = 2538.9 kJ/kg

=0.9397

P, =100 kPa X, =
s, =5, =6.9938kJ/kg-K

Substituting,
w=h —h, =(3159.9-2538.9) kJ/kg =621.0 kd/kg



Question 8.6

P, =600 kPa u, =2566.8kl/kg
From Tables:

X, =1 s, =6.7593kJ/kg - K
dU = -W
-W =AU =m(u, —u,) (sinceQ =KE =PE =0)
u, =u, +w =2566.8kJ/kg + 700k _ 2216.8kJ/kg
m 2kg

The entropy at the final state is:

U, Uy 2216.8—417.40
u, 20882

S, =S; + XS =1.3028+0.8617x6.0562 = 6.5215 kl/kg-K

=0.8617

P, =100 kPa X, =
u, =2216.8kJ/kg

The entropy change is
As=s, —S, =6.5215-6.7593 = -0.238 kJ/kg -K

The process is not realistic since entropy cannot decrease during an adiabatic process. In
the limiting case of a reversible (and adiabatic) process, the entropy remains constant.

Question 8.7

Air is an ideal gas with constant specific heats. At room temperature are C, = 1.005
kJ/kg-K and k = 1.4. For the polytropic process Pv" = Constant :

P (n-1)/n 180 kPa 0.3/1.3
T,=T (_2] = (373 K)( j =264.4K
P

1 800 kPa

For steady state: m, =m, =m. The energy balance for this steady-flow system is:

. v, . V.2
m[h1 +%} = m[h2 +72J)
vz 700 kPa
hy+—-=hy + == 100°Cc Air 200 kPa

Solving for the exit velocity, 30 m/s /

Vv, = 5/12 + 2(h1 - hz )]0.5
=V +2c, (T -T)"

2, 2\1%°
= {(25 m/S)2 +2(1.005kJ/kg - K)(373 — 264.4)K(MJ}

1kJ/kg
=468 m/s



Question 8.8

Air is an ideal gas with constant specific heats. The properties of air at 300 K are ¢, =
1.005 kJ/kg'K, ¢,=0.718 kJ/kg-K and k= 1.4. Also, Rs = 0.287 kJ/kg'K

du =R - W

-W =AU =m(u, —u,) (sinceQ=KE =PE =0)

-W = mc, (T2 _Tl)

W =mc, (T, -T,)—>T, =T, W (410+273K) - S50k =529.8K
mc, (5kg)(0.718 kl/kg - K)

From the entropy change relation of an ideal gas,

T P
As, =c,In=—-RIn—=>

1 1

S298K _ (267 ki/kg - Kyln 100 KP

= (1.005 kJ/kg - K)In
683K 600 kPa

= 0.259 kJ/kg -K

Since the entropy change is positive for this adiabatic process, the process is irreversible
and realistic.

Question 8.9
P,=7MPa | h, =3650.6 kl/kg
T, =600°C [s, =7.0910 ki/kg-K
From the steam tables:

P, =50 kPa

h,, =2780.2 kJ/k
T, =150°C } 2 s
For steady state: m, =, =m. The energy balance for this steady-flow system is:

m(h, +V,2/2) =W, +m(h, +V,*/2) (since Q = Ape = 0)

2 /2
i :_m(hz_hﬁ%J

a

Substituting, the mass flow rate of the steam is:

(130 m/s)* — (75 m/s)* ( 1kJ/kg j
2 1000 m*/s*

5000 kJ/s = —m(2780.2 —3650.6 +

m=>5.78 kgls
The isentropic exit enthalpy of the steam and the power output of the isentropic turbine:

Sps =S¢ 7.0910 —1.0912
Sty 6.5019
2s =N¢ + Xpshgy =340.54 +(0.9228)(2304.7) = 2467.3 kl/kg

=0.9228

P,s =50 kPa } Xps =
Sys =31 h

and



W, = —mh,, —h, +{v2 -v;2)i2))

S

2 _ 2
W, = —(5.78kg/s)(2467.3 _3650.6+ 130 m/s)” = (75 ms) ( LkVkg Jj

2 1000 m*/s*
= 6807 kW
Then the isentropic efficiency of the turbine becomes
W
n =—= _ S000kW _ 0.735=73.5%
"W, 6807 kW
Question 8.10
Air is an ideal gas with constant specific heats.
The properties of air at the anticipated average P, — 1.8 MP
temperature of 400 K are ¢, = 1.013 kJ/kg-°C and k Tl B 3éO°C a
=

=1.395
mh, =W, +mh, (since Q = Ake = Ape = 0)
Wa = m(hl - hz): mcp (Tl _Tz)

The isentropic exit temperature is

P (k=1)/k 100 kP 0.395/1.395
T, =T, -2 = (320+273 K)(—aj =261.6K
P, 1800 kPa

P,=100 kPa
From the definition of the isentropic efficiency,

Wooi h—h, ¢(T,-T,) T,-T, 593-273
w h—h, ¢,(T,-T,) T,-T, 3593-2616

s,out

=0.966 =96.6%

nr =

Question 8.11

Air is an ideal gas with constant specific heats (k= 1.4)
The isentropic exit temperature is

(k=1)/k 0.4/1.4

P

T, =T,|-2 _@7+273 k) S0KP s
P, 95 kPa

Then the isentropic efficiency becomes
_ hZS - hl _ Cp(TZS _Tl)

n, =0.832=83.2%
hza - hl Cp(T2 _T1)




Question 8.12

From the refrigerant tables 2
hy =Ny 100 . = 234.44 kl/kg

P, =100 kPa

sallt vapor }Sl =Sg@u0kea = 0.95183 kl/kg - K
P Vi =Vyai0ia = 0.19254 m’/kg

P2 =1 MPa

} th =282.51kJ/kg
Sys =5,

. . . . 0.7 m*/min
From the isentropic efficiency relation,

h,, —h
n, = ﬁ——) hya =hy +(hys =)/ =234.44 +(282.51-234.44)/0.87 = 289.69 kl/kg
2a 1
Thus,
P,, =1 MPa

T,, =56.5°C
h,, =289.69 ki/kg
The mass flow rate of the refrigerant is determined from

y 3
mo A _0760ms ) 66059 kes

v 0.19254 m’/kg
For steady state: m, =, =m:
—~W,_ +mh, =mh, (since Q = Ake = Ape = 0)
W, =m(h, —h,)
Substituting, the power input to the compressor becomes,
W, =(0.06059 kg/s)(234.44 - 289.69 )kJ/kg = —3.35 kW



Question 8.13

Air is an ideal gas with constant specific heats. The properties of air at room temperature
are Cp = 1.005 kJ/kg'K and k=1.4.

For the compression process,

P (k-1)/k T
Ty =T, (—ZJ = (288 K)(12)#'* =585.8K
S P 873K+
77c=h25_h1 :Cp(TZS _Tl) T2=T1+T25 _Tl
hy—h ¢c,(T,-T)) ¢
83— 288 K+
= 288-1——585 8288 =618.9K
0.90

For the expansion process,

p (k=1)/k 1 0.4/1.4
T, =T, 2% =(873K) — =4292K
. (Pj ( M

_ h3_h4 _ Cp(T3 _T4)
hy—hys  Cp (T3 =Tys)

nT Ty =T —nr (T3 -Tye)

=873 —(0.90)(873—429.2)
=473.6K

The isentropic and actual work of compressor and turbine are
Weomps =Cp(Tas ~T)) = (1.005 kl/kg - K)(585.8— 288)K = 299.3 ki/kg

Weomp =Cp (To —T}) = (1.005 kl/kg - K)(618.9— 288)K =332.6 kl/kg
Woyps = Cp (T3 —T4s) = (1.005 ki/kg - K)(873 —429.2)K = 446.0 kl/kg
Wiy =Cp (T3 —T,) = (1.005 ki/kg -K)(873 - 473.6)K = 401.4 kJ/kg

The back work ratio for 90% efficient compressor and isentropic turbine case is

332.6kl/kg

W omj
__Comp _ —0.7457

CWoyps  446.0kI/kg

r-bw

The back work ratio for 90% efficient turbine and isentropic compressor case is

_Weomps _ 299.3k/kg _ 0.7456
Wiy, — 40L4kIkg

Mow

The two results are almost identical.



Question 8.14
From the steam tables,
P, =50kPa hy = hy gosec =314.03kI/kg
T) = Ta@sokra —6:3=81.3-63=75°C } v = Vigrsc =0.001026 m*/kg

w, =-6.10kl/kg

h, =h, —w, =314.03 - (-6.10) = 320.13 kl/kg

P, =6000kPa | h, =3302.9kl/kg
T, = 450°C s, =6.7219kl/kg - K
;=S¢ 6.7219-1.0912

Sty 6.5019
hy, = h, +X,hy, = 340.54+(0.8660)(2304.7) = 2336.4 kl/kg

=0.8660

P,=50kPa | X, =
S, =S,

h, —h,

— ——h, =h, —7.(h, —h,)) =3302.9—(0.94)(3302.9 — 2336.4) = 2394.4 kl/kg
3 14

nr =

S

Thus,
Q, =m(h, —h,)=(20kg/s)(3302.9 — 320.13)kJ/kg = 59,660 kW
=m(h, —h,) = (20 kg/s)(3302.9 — 2394.4)kJ/kg =18,170 kW
W, =mw, =(20kg/s)(-6.10 kI/kg) = -122 kKW
W, =W, +W, =18,170 + (-122) = 18,050 kW

W

T,out

T,out

and
W, _ 18,050
Q, 59,660

Mo = =0.3025



Question 8.15

From the steam tables,

Thus,

P, =Py o e =7.385kPa

P, = Py o0 = 8588 kPa

h, =Ny g e =167.53kl/kg

V, =V g aec =0.001008 m*/kg

w, = -8.65 ki/kg

h, =h, —w, =167.53—(~8.65)=176.18 kl/kg
T, =300°C | h, =2749.6kl/kg

Xy =1 s, =5.7059 kl/kg - K

S4—St  5.7059-0.5724
Stg 7.6832
hy =hy +x4hgy =167.53+(0.6681)(2406.0) =1775.1 kl/kg

=0.6681

T, =40°C | x, =
S4 = S3

w, =h, —h, =2749.6-1775.1=974.5 kJ/Kg
q, =h, —h, =2749.6-176.18 = 2573.4 kJ/kg
q,, =h, —h, =167.53-1775.1=-1607.6 kl/kg

The thermal efficiency of the cycle is

Qout| _|—16o7.6|_
0. 25734

0.375

ym =1-




Question 8.16
Air is an ideal gas with constant specific heats.
The properties of air at room temperature are ¢, = 1.005 kJ/kg'K and k= 1.4.

Using the isentropic relations,

(k=1)/k
P
T, =T, (sz =(300 K)12)**"* =610.2 K
1
p (k=1)/k 1 0.4/1.4
T, =T, = = (1000 K)[—j =491.7K
P, 12
. =h —h, =c (T, =T, )=(1.005 kl/kg - K)300 - 610.2)K =-311.75 kJ/kg
r =hy —h,  =c (T, =T,,)=(1.005 ki/kg - K 1000 — 491.7)K = 510.84 kJ/kg

W, o = W7 + W, =510.84 +(-311.75) =199.1 kl/kg

s,net,

o W,.. 70,000 kl/s
ow 199.1 kJ/kg

s,net,

=352 kgls

The net work output is determined to be
Wa,net = Wa,T + Wa,C = 77T WS,T + Ws,C /77C
=(0.85)510.84) + (~311.75)/0.85 = 67.5 kJ/kg

o W, _ 70,000 kJ/s
Tw 67.5 kI/kg

a,net,

net

=1037 kg/s
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